®
No5 E & AKX (Ehih & f7i)

140.2 5 A(—=2,0),B(4,0) 2 5 Do tk232 1 1 TH 3 OB Z KD X,
141.2 51 A(1,5),B(6,2) % # SH 0 o TEEH 0o iz ko X,
142, 2 E#Rl:2x —y —3=0,m:x — 2y = 0D 72 T A D N L SRR %Ko X,
143, JEEESER i 2 55 A(=1,0),B(1,0)23% 3,
(1) P2 ZAPB= 90°%iii7z L7223 681 & &, fP OWi% ko X,

(2) P2 ZAPB= 60°%iii7z L7a2S BN L &, P OfiZ ke X,

144, Fl(x —2)? +y? =4LDF 00,00 A4,0)23H 5, HmQBZDOHEZH & &,
AOAQ DE.L P D% sk X,

145, Wty = x> + 2t —4)x — t? (t Z 0)DTE P DEAII % KD X,

146.: #3835, UTONXTEE 2 5 P(x,y) Dz ko X,

2t
x = t? Y =vn

m{Zh e @ { o0
Y=o

147. Wy = x> L ER y=m@x+ D) P E L2285 A, B TRDS L &, #9 AB O H O % Ko
X

148. M(x —2)?+y? =4 L Efy =m(x—6)23 2% 2 2 M A, B TRb 5L %, #i5 AB O s OB
BRD X,

149, KO L& R DFRSHINE KT+ X,

x> +y?s4

(D x?sy<—-x+2 (2){(x—2)2+y2§1

150. FER(? +y? —4H(x+y—2) S 0 DX THEZ KR X,

151. FEX (- D@y -0y —x?) > 0 DRI T Z MR X,



152. XoARLHEXOF T HRE X,
M Ix+yl=1 Q) lxl+ly|=1

153. REX 1= |Ix| — 2|+ |lyl — 2| = 3 DRI FEINZ xy FHICHRE X,

154. Efly =ax+b 25, 2 R A(-1,1),B(2,4) ZfE Sy e GRZ DL X, a,b DEFERD, %
N% ab Vil EICKRE X,

155, xy Vil LD ri & 5(1,2) 2GSRI (M2 B8 % L &35, Mifty=x*+ax+ b L LHEH
RO X 5 mEBDM(a, b)) DEA % ab Tl IR X, CRERR)

157. (1) x2+2x+y2 S0 E x> +y2 S 4 DY 2D Z & iR,
Q) x2+y?S1H2x+y 2k OTa5MFL 75 X5 BREB k DEOHFZ KD X,
B) =22+ —1)?*=Sr2 B x2+y? =25 D105 L7235 X 5 RIEQER r DIEDHIP % KD X,

1568. BV AERXx+2y24,x—-3y=2-6,3x+ys12AKTHEHKED LT 5, y
RoQo,y) B D 281 & &, ROXDEKAE L R/IMEZ KD X,
(1) x+4y @) x* +y” O
159, HVVAER X2 +y2 =25, x+2y =10 ARIWEHE D T35, T/, a 2FEET 5, 5 (x,y)
DSRE D # B L &, ax +y DR/IME L FKEE KD X,



